

$$\mathbb{R}^m \xrightarrow{\lambda} \mathbb{R}^n \xrightarrow{\gamma} \mathbb{R}$$

$$\lambda \gamma = 1$$

$$\lambda = \begin{pmatrix} 1 & & & \\ & 1 & & \\ & & \dots & \\ & & & 1 \end{pmatrix} \dots \begin{pmatrix} n \\ & & & \\ & & & \\ & & & \\ & & & \end{pmatrix}$$

$$x_{\lambda^{-1}i} = \frac{\partial \gamma}{\partial x_i}$$

$$x_{\lambda^{-1}i} = \frac{\partial \gamma}{\partial x_{i^{-1}}}$$

$$x_{\lambda^{-1}}$$

$$\bigwedge_1^{m\mathbb{N}} x_{\lambda^{-1}} \llbracket \gamma = \sum_{\langle \varrho \rangle = 1}^{m\mathbb{N} \xrightarrow{\varrho} n\mathbb{N}} |\varrho|! \prod_j^n \prod_1^{m\mathbb{N}} \frac{1}{j^{\varrho_j!}} \overbrace{x_{\lambda^{-1}j}^{\varrho_j}}^{x_{\lambda^{-1}j}} \llbracket_{|\varrho|}$$

$$|\varrho| = \sum_1^{m\mathbb{N}} \varrho_1$$

$$\langle \varrho \rangle = \sum_1^{m\mathbb{N}} \varrho_1^2$$

$$x_{\lambda^{-1}} \llbracket \gamma = \sum_{\sum_{\beta} |\varrho_{\beta}| = \alpha}^{m\mathbb{N} \xrightarrow{\varrho} n\mathbb{N}} \prod_{\beta} \frac{1}{\varrho_{\beta}!} \frac{\overbrace{x_{\lambda^{-1}}^{\varrho_{\beta}}}{\beta}}{\beta!} \llbracket_{\sum_{\beta} \varrho_{\beta}}$$